Explanation of Spreadsheet and Chart Comparing
500 mrem/yr DRL Concentrations to MCL

There is an Excel Spreadsheet and Stacked Column Chart provided.

1. In general they are sorted by Radionuclide, in the order provided in the OW table for the
4 mrem/yr MCL concentrations with concentrations added for some of the gross alpha 15
pCi/l MCL, the 5 pCi/l Radium 226 and 228 MCL, and the some of the uranium isotopes
converted to the 30 microgram per liter total uranium MCL

2. If no PAG DRL was provided in 2007 and 2015/2016 draft PA
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3. Y-90 was deleted from the Chart since it was the only DRI
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MCLs info Source:
MCLs from OW webpage for 4 mrem/yr MCL, and OSWER directive “Use of Uranium
Drinking Water Standards under 40 CFR 141 and 40 CFR 192 as Remediation Goals for
Groundwater at CERCLA sites” which includes a list of radionuclides covered by 15
pCi/l gross alpha MCL (list provided by OW).

Uranium MCLs are in terms of mass (micrograms per liter), not activity (picoCuries per
liter). The 30 micrograms per liter MCL for the uranium element was converted to an
activity for each isotope

Comparlson of DRL to MCL
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